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[> IntMul := proc( m::posint, a::Array,
n::posint, b-:nrra¥,
c::Array, # space for product
’ B::posint )
local i,j,t,carry;
for i from 0 to m+n-1 do
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:Eo;: i from 0 to m-1 do

carry := 0;

or-j from 0 to n-1 do

i+j] = irem(t,B,' carry )i
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if carry=0 then n+m-1 else n+m fi;

:= b[i]*a[j] + c[i+j] + carry; & b\.m-lﬂ ‘P[N" Some a)"ﬁﬂ"f k[

end:
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[> a := Array(0..2,[5,4,3]): # a = 345 How [Dn@ O(IP/] Mo( Ci g .4
| b := Array(0..2,(6,7,8]): # b = 876 Dok o m an
> ¢ := Array(0..5):
n := IntMul(3,a,3,b,c,10); _ I—@'f' T(w}ﬂ) k ‘ﬂe -{-JME_.

[> 345%876 = add( c[i]*10%i, i=0..n-1 );
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